. eHO
int cells[8][8]; 1zx

d

color display(i,j);

Black's tum (human)
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turn=0
int CheckN (int i, int j, int ox)
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void chgN(int i, int j, int ox)

L]=1@)
1E%



turn=0
int CheckN (int i, int j, int ox)

eHO
1E£%
| EMPTY
if(i<__ || cells[il[j]'=__)
return O;
if(cells[i-1][j1'=(__ )

return 0; (¥7)

i@@ 2@" I

1 @@ 8 R (%R
2 O IEIRIE:
3 t 8@ O
@ @ kE

s f ©©

Othello 2 H K

while(i>0 &&
cells[__] [_]==(j_)) i--;
(E5) (£17)

if(i<=0) return O;

return (cells[_][_]== );

(K77)




o #fchange

X—

void chgN(int i, int j, int ox){
ceIIs[l][J]— ;

wh|Ie(|> 0 && ceIIs[|][J]

ceIIs[l][J]—

1

// ox=[0]1]

"

Othello . fH
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~J A B C€C D E F G H

void game(){ #define MAX 10
int i,7j,0x=0,0k; int cells[MAX][MAX]={0};  // 0(0),1(x)
char col="A',row="'0";
color display(-1,-1);
1%
printf("User %c (e.g. AQ): ", (ox==1)?'x"':'0");
col=toupper(getche()); 'D'
row=toupper(getche()); 4"
g ERRLEE - BISHEA -
D' >3 77 @AHT (0-9)
4" 5 4 )=
ok = 8 0/1
if(cells[i][j]== )
ok = check and change cells(i,j,0x);
if(ok>0) ox = ;0 // 0-1(HER),1-0(FEH)
twhile(1);
}

2541 L St £ . LEL
Otneto &2 571 5



0 1 2 3 4 5 6 7
// N, E, S, W, NE, SE, SW, NW
int dirn[8][2]= {-1,0, ©,1, 1,0, ©,-1, -1,1, 1,1, 1,-1, -1,-1};
(i+_,J+.)
0,1
int check and change cells(int i, int j, int ox){
int d=0,0k=0; 0H O
J J 1x
iF(ehgck(i,j,ox,@)){ change(i,j,o0x,0); ok++;}
if(cheER(i,j,ox,l)){ change(i,j,ox,1); ok++;}
if(check(i,j,0x52)){ change(i,j,0x,2); ok++;}
if(check(i,j,ox,3)5{~cb§nge(i,j,ox,3); ok++; }
if(check(i,j,ox,4)){ change(i,j,ox,4); ok++;}
if(check(i,j,ox,5)){ change(i,j;ex,5); ok++;}
if(check(i,j,ox,6)){ change(i,j,ox,é);~\\pk++;}
if(check(i,j,ox,7)){ change(i,j,ox,7); SRP+;1
if(ok>0) cells[i][j]l= // 082,128 i--
color_display(i,j);
return ok; j-- o+

thaello B2 1 xH
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0 1 2 3 4 5 6 7

// N, E, S, W, NE, SE, SW, NW
int dirn[8][2]= {-1,0, 0,1, 1,0, ©,-1, -1,1, 1,1, 1,-1, -1,-1};

(i+_,3+_)
0,1 ©-7 (direction)
int check(int i, int j, int ox, int d){ =10
72 4%
if(cells[i][]j] (FrE2 )) return 0; B ‘
.1 +=dirn[ ][e]; /1T

(P25 4o dien[ 1011 /] < —

if(cells[i][3] ) return ©;

(ZEIFEFEF) (AR
while(i>=0 && j>=0 && i<MAX && j<MAX

&
&3
&& cells[i][j]== ){ x

i 4= dirn[ ][0]; (B HFHEF)
j += dirn[ ][1];

}

if(i<@ [] j<@ [] i>=MAX [] j>=MAX) return ©;
return (cells[i][7] )

} (ARTTHEF)

Othello . fH



0 1 2 3 4 5 6 7
// N, E, S, W, NE, SE, SW, NW
int dirn[8][2]= {-1,0, 0,1, 1,0, ©,-1, -1,1, 1,1, 1,-1, -1,-1};
(i+_,3+)

]=1@)
0,1 9-7 (direction) 15%
void change(int i, int j, int ox, int d){
ne O
i += dirn[ ][0];,—
§ 4= dirn[ J11:¢ 0 D) (BER) %
if(i || j___|] i>=mAX || j>=MAX x
|| cells[i][7] ) break;
cells[i][]]= (A5 HEFE
twhile(1); ( ) x
} ©,
—

Othello . fH 8



